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( Fundamentals of Financial Management)
Full Marks : 80
- Time : Three hours
The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

(Zeare wea SRS Tel fAar )

Choose the appropriate answers from the
choices given against each : 1x10=10

firae RETT Rl oa TeIn! Ak Bfed 3

(a) Providing information  to top
management is < ———— of
financial management.
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(b)

e ~IRoTeR TS S N (@I Be
T e e ——

(i) recurring function
sl F

(ii) non-recurring function
Cretineisant

(iii) routine function
frafrn wrf

(iv) advisory function
TATRES

Financial leverage refers to which of
the following ?

R€m freiace fivsie @t gei ?

() The use of debt to pay dividend:
sTepiee Roges e el 2|

(i) The wuse of fixed inco™

S 4 n
securities to meet deficiency '
dividend payment.

eTice frowes wifS o AR T
SRYE efegfes 77|

4 (Sem-5/CBCS) COM RE 5/RE 6/G 2

(iii) The use of fixed income
securities to increase the EPS.

EPS 5[ A B winge Afogfeq
TR |

(iv) The use of equity to increase the
EPS.

EPS I0I<9 AR 23520 99 |

Capital budgeting is a part of
eI TR 1 T T
(i) investment decision

Rfce Prare

(i) working capital management
TR o4 ARl

(iii) capital structure
e affef

(iv) dividend decision '

et Rizrege Baie
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() Optimum Capital Structure refers to
(d) Un(.iert Nfet Preser:;t ;/alulf@ method, i the debt-equity mix where —
project is accepted when presen '
value (PV) of outflows is eI e AR T I wel I o7
present value (PV) of inflows. s e =/ W o
Téf G Y& (Net Present Value) (i) debt is higher than equity
FF T BT &% A T T ST 7o WWQWWN
Il IS o Ao R Ao TETH (i) equity is higher than debt
T ! AR AOLT WfZF T
L P

() more than (iii) the firm’s cost of capital is

&P = minimum and value of the firm

' is maximum

(i) less than ARSI R T T = uie
(iii) equal to (iv) All of the above

g BT B
iv) None of th .
(iv) © ¢ above (g) The higher the degree of financial -

ST qbre = leverage, the greater is the financial
' risk.

(e) “When profitability index exceedS

one, the proposal is rejected.”
(State True or False)

“ Qe profitability index qam 67 &

(State True or False )

Rél Feimen s faez wfe =
ﬁ@aﬁﬁmwﬁmw‘amc
(%% 7 qu% Gme +91 )

@%mmﬁmwm”, )

~ 79
(9% 7 qom GEd ' 4(Sem~5/CBCS) COM RE 5RE 6/G 5

L
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(R) Which of the following is a part of

*8em~5/BCs) oy pp 5/RE 6/
6

financia] decision-making ?
O (P R Prae Weffaei ozl ?

(1) Investment decision

Rivcarst frare

(i) Financial decision
ke fare

(i) Dividend decision
TN et g

() All of the above

<R TR

Rs. 20,000, o ¢ Working capital i®
,000, Current assets would b€*

e
TR gy T° R 72 aq )

q20,000 b 7@, (ors vl
27 2

Rs, 10’000
10,000 B

0
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Rs. 80,000
80,000 Gl

(iii)

Rs. 20,000
20,000 51

(iv)

Earning per share (EPS) is calculated
as :

R (@It @ EPS 4T #1120

(i) (Earning available to preferred
and equity shareholders)
( Number of preferred and equity
shares outstanding)
(waifasge =R 333 weigRes
Hi#l] 917 )

(TAETYE O 2336 Tisi@g
A GRS )

(i) (Earnings available to equity
shareholders)

(Number of equity shares
outstanding )

(2320 ST 2ol )
(22 AT e ToiRpe)
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_‘—




(iii) ( Profit available to shareholders) (d) State the sources Aerpnbae

S—

(Market price per share) freq SoPTEE Ty 41|
(Tigel NP1 M) (e) State the meaning of accounting
(Sige efs & EW) rate of return.

(iv) (Earnings to shareholders) % Al | 1A (accounting) A wd
(Number of shares issued to \
promoters and shareholders) 3. Answer any four of the following

questions in about 150 words each :
(TP GLIRFS A=l o) e SX4=2%01
STIEIe e oo [erer BifEet YrojeE U 150
(SIRHAPALRE A witT RiFrge x%7q oo Tel F41 ¢
i@ AT) :
(a) State the limitations of financial
2. Answer the following questions in about management.
50 words each : 2x5=10 8 sfRpemE TREeRR SEd T4
51 *a7q [ooae IR ofors! ehi Tes frdl @ .
50 Ul e s (b) Discuss the use of Internal Rate of
(@) What is cost of capital ? Return (IRR).

TrerEad BRE Q9 Al Wi 9 TS TS

NGECISIE] & 2
(b) Define ‘Operating Leverage’- T
CETICIIN GRISER wee! sl | - () What is stock dividend ? Why s it
issued ?

(c) What is capital structure ?

‘:ﬁzﬁsﬁﬂﬁﬁf? 3% sree & ¢ T R R s A
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'“(&em,slcacs

(d) Explain Profitability Index Method.

Profitability Index 9wf$x 39q fa)

Ritika Ltd. issued equity shares of
Rs. 100 each at a premium of 20 per
cent. It paid a dividend of 20 per cent

to its shareholders. Calculate the -

cost of equity capital if the annual
growth of dividend is 10 per cent.

RiY! fifitee @ 100 St o1 11 20%
e ore /Ry @@ (F=oAITICOIR
TR TS 20% Fo FAojice [odd
PR T AT oo 3w 7w 10% =,
COTRE AR e 3 < TR 41

Or / 533y

Discuss five leading determinants of
working capital of g firm.

UV B )
T o4
ﬁﬁaw%mam%wwmw,

Structure, ptimum Capitaj

YT TR shafg o T Bt Bya |
) COM RE 5/RE 6/G 10

Answer the following questions in about
600 words each : 10x4=40

%oﬁmwmaWW%w

(a) “Financial management is
concerned with the solution of
three major decisions — financing,
investment and dividend”. Explain

the statement highlightingv
interrelationship amongst these
three decisions.

“Rém sifwEm—Re, Rivans siw sTens
TR ORG Pees iR i
Tt |7 ¥ 61 Pl JdrifRe 795
e FR Toirare RRCot gt 3|

Or /53l

Discuss the scope and functions of
financial management.

ke ARorm Rem o wrfed a
|
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(b) Discuss the various methods

followed in capital budgeting.

(c)

4 (Sem~-5/CBCS) COM RE 5

Elaborate the determinants of capital
structure of a corporate entity.

1 R 2o e s R R
A TAMARIT 213 By

Define  Working Capital. What

considerations are taken into

account in estimating the amount of

working capital requirement in a

newly started company ?

I JEeE T T wen A
qore PRGN Jega [Feld weaice O

el A @ ¢

/RE6/G 12

B $z SN

(@)
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Oor /=t

Financial management can use

dividend policy to maximise the
wealth of equity holder. Explain with
suitable example.

A a1 s i i L L L S A T e
SfFpIE o eipf e IR AE|
TS SHIZACATE 391 F1

Explain the relationship between

operating leverage and financial

leverage.
ety foreitEe o< e FrelEed
Al oA it 9

Oor /94l

A firm is considering the purchase of
a machine. Two machines A and B
are available, each costing
Rs. 50,000. In
profitability of those machines a

discount rate of 10% is to be used.

comparing the

Earning after taxation are expected

to be as follows :

Contd.




;ﬁglﬁﬁmmlzs. sé,ooowqm
o T B RS W) ety cafoe
RIS O § = TR —— 10% 3G

(Discount rate) @ tzrz) 39 FIoe
K1(2S) |
R AR O s rat mag ¢

Year | M.
Cash T | Gaine,2 | PV, Factor
(in Rs,) (in Rs,) 0%
Ist 15,000 5,000 0
2:: 20,000 15,000 | OZZ:
- f:,(())(());) 20,000 0.751
- 10,000 30,000 0.683
’ 20,000 0.621

Evaly jects
ate the Projects using payback

Period angq N
et Pr
method, esent Value

@S PifRes @i NPV SRR
EQUECE DI At

\
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OPTION-B
' Paper : COM-RE~ 5066
(Indirect Tax Laws)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

(&G w4 RS ©ed )

Anéwer the following as directed :
1x10=10

fRoMTR wore fa ehitiRe Tee ol ¢

(i) Indirect taxes are imposed on goods

and ———.
[ Fill in the blank with appropriate
word/words |

AT I I W ——— g @9F@ 41

74
(A 32 Boye 1 979 F9)
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(@) Excise duty is levied

manufacture of .
India. | excisable goods in

on the

S
[ State whether the statement is true
) or false]
:ﬁ\ﬁw YRFIS I IS TeATE
IS R I 4 T4 = |
(BfFtst o% @ wom GEd 79

(iii) Customs area means the area of a

[Fill in the blank with appropriaté

word/words ]
e seeg 9 (R I g g |
(B e A IR T3 1)

(iU) GST was introduced in India with

effect from 1st April, 2017.

[ State whether the statement is true

or false]

\920175:1?{9@5!1&%@@‘[39@

GsT IR 3 |
(G T o G )
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(v) GSTIN is a unique — - digit
number. o
(Fill in the plank with appropriate

word/words |

 GSTIN T ¢Bt AR T 1N
(G A A IR 77 T

(vi) Customs duty is levied by State

Governmént.
[ State W hether the s

%

tatement is true ‘
or false]

B asa A = =
| (@WGQCNWEWW)

is the first country to

implement GST in the year 1954.

[Fill in the blank with appropriate
word/ words ]

(vii)

4 {Sem-5/CBCS) COM RE 5/RE 6/G 17




(viii) The ————— is the Chairperson of 2. Answer the following questions : 2x5=10

the GST Council. o Ts el e Tes e
[Fill in the blank with appropriate
word/words] (i) What is Value-Added Tax ?
———— GST Council I (GTRART = | TE-REARre ¥ T & e
(Gorge AT A 712 739 79)

(i) Explain the term ‘Manufacture’

(ix) GST network is a Government
organization. under Central Excise Act.

[ State whether the statement is true FE RS ST ST e
or false ] <B1 I

GST network a5 SIS FLO |

(Gfeehr 97 suE GrEd ) (iij) What is ‘Safeguard Duty’ under the

Customs Act ?

Wmﬂm‘ﬁﬁfﬂ@@g’w%

(x) Under GST, a registered person is

not a taxable person.

. q ?
[ State whether the statement is tru€ B
r falsel :
ar (iv) What is Input Tax Credit ?
: e
N~
GSTHﬁW@f{ﬂﬁ, qGe R 21off T, GFOS i B e
gy I 7=
(sfecbt ww o qoT B )
4 (Sem~5/CBCS) COM RE 5/RE 6/G 19 Contd.
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(v)

any w i

GSTN=% Rtz
S T SrEiaey @R

Answ
er
any four question
S

ﬁﬁ?f{m’
meﬁm:

Q)

(ii)

(iii)

5x4=20

Briefly explain ¢

: n
Indirect taxeg Y five features of

State an
yﬁve ob‘ -
jecti
of Customs Act 196‘;38 of enactment

4 (Sem-5/CBCS) COM RE 5/RE 6/G 20

(iv) Briefly explain any five salient

features of Goods and Services Tax.

a S (7 T QI AT STl

e v o 9

(v) Explain th

under section 31 of the CGST

201%.

CGST wigw, 2017 3 4l 31
SR di=et i T4

(vi) Write a brie
Limits fo

a1 foe =
gofe o ol

Answer the following que

oo fi At Tl for ¢
(i) Describe the history of 1

in India.

RO S AT T 3feg 1

4 (Sem-5/CBCS) COM RE 5/RE 6/G 21

e concept of Tax Invoice
Act,

r Registration under

éﬁa@ﬁf@ammmﬁ@ﬁw

F GO 9

f note on the Threshold
GST.

stions .10x4=40

ndirect taxes

ofey) 41|

Contd.
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What are the general principles of
Value-Added Tax ? Explain the scopé

of Input Tax Credit under VAT.
5+5=10

TEORGEIRTS 399 ARe Mo (& 7 7
Te-REie $99 e D 0]k}
(GG 2P A 0 |

Describe in brief, the history of
Central Excise Law in India. 10

o (eEla SRRl o 2R
el

Oor/ 544l

(ii)

Write brief notes on the following
terms under Central Excise Act :
5+5=10

memﬁﬁﬂg

(a) Excisable goods

(b) Manufacturer

TeAF

(iii) Explain the various types of custom
duties. 10

RSy vav9 S8 =@ AN 9|

Or /9

Briefly explain the following terms
under the Customs Act, 1962 -

A S5+5=10
I WA, 19627 GfTs wers o
SHRIES AT AN F] g |

(a) Baggage
Jicae

(b) Anti-dumping duty
‘ﬂf'ﬁ—@]‘ﬁ“’?{?\ Ty

e Indig 1
W‘“FT'I‘?N' SR Gy 9 foum ?ﬁLOW
4 Sem-
(Sem S/CBCS]COMRES/REG/G 23
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